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IIIIIIIIIIIIIIIIIIIIII.I-.I-;IIIIIIIIIIIIIIIIIIIII;IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII
8 ores : Bt
Orherest > . i L
’,___l .;..._ . 4" '....‘... : V — §7TT'
} SV = —qr3 el 4 X
.3 N V=§-n-4
. 4
Rememoey Tm (odis s V=gm216
raised tu the THIRD 3 V=r-288
PWer 1 Spheres since = V=
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there i o M’H‘A{ w"904_ _32 cm3(estimate using m ~ 3. 14_)
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Helpful HintsS

f / I you art gven Tk DAMETER inStod of TVt radus, nbimtr thort
Ir=d (So divid tho dianGter by 2 o oot Tho radus).

y For 90 EXAGT Vouny RNG mr oS part of your anSwer
For on ESTIMATE o APPROXIMATIONy Ut 34 as an &Stinatt for  and multiply.

For eSTimattd onSwWerSy a Shortout S Yo USS =~ 3
WST rEnimcte That your answer wil 6 a litle LOWER than 6 attudl answer!




